A ViaZ = 2a © -Va?2 =a

® -V9a% =-3a ® +/(-ba)? =ba

® - V(~a)? = -

@® 178 @ 270 ® 371 @)4 7N ® 571

© -Va? =-a




2. O<a<19W, /2-a7- /Aa-1)7 & ANtsR?

@a @ 3a-2 ® -3a+4
@ -5a+3 ® a-3

~&B

0<a<1¥9 M 1<2-a<2 -1l<a-1<0°]E2=2
(FA) =12-al - |2(a-1)]

=2-a)-{-2(a-1)}

=2-a+2a-2

=a
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@ 3 ® 6

2v3-5  (2V3-5)(2+ V3)
2-V3  (2- V3)2+ V3)
olmz

La=-4,b=-1

= 4V3+6-10-5V3 = - V34
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@ 10 @1 @) @ 18 ® 20

B ~
o] F oA (x +4)(x - 7) O] BE x? - 3x - 28 ],
x G AFE R Boko B A2 —28 ot
50| E o]AA]L (x - 2)(x—10) O] =& x2 — 12x + 20 ©] 1,
A4S AE Hetou g x Fo] Ag —12 ojth
a=-12, b=-28
a-b=-12-(-28) = 16
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6. 200y & rnde
@ (2x+ 3y)(4x — 6y) @ (4x+ 6y)(2x - 3y)
® 2(2x + 3y)(2x - 3y) @%(Qx +3y)(2x = 3y)

® %(Qx + 3y)?




7.

x+y=5,xy=-3< 0 (x-y)?* 9 gte?

O 12 @ 13 ® 25 @ 31

~&B

(x-y)? =22 -2y +y°
:x2+2xy—|—y2—4xy
= (x+)? - 40y
=52-4x(-3)
=25+12
=37
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9. 2x-y=3%4d, V2xF+y 7t AA57} A RtE= 7P 2R £ 2t
2t x =7

1w @ ® 16 @ 19 ® 22

B *
2x—-y=3>=>y=2x-3

V2x+y=V2x+2x-3= Vdx-3
x = A4t 7P A2 FAE 491 10 o]Folojof stE =,
T2 o AlFgE 72 oldo] Hojof ek (VAx10-3 =
\/_7>72)

LV =3=7d 1, x =13 o|B=E ZHI}.
SLox=13
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3_|_ \/37 2\/3—1, 1"‘ \/57 ‘/3_2’ 6_\/5

@3+ 3 @ 2V3-1
® V3-2 ©6-+3

~&B

® 1+ V2

© Vi< V3< Vi

34+ Vi<3+ V3<3+ V4
5 4<34+V3<5
@2V3-1=+12-1
V9 < Vi2 < V16
V9-1<Vi2-1< V16-1
L2<V12-1<3

® VI<V2< V4
1+VI<l+V2<1+ V4
L2<1+4V2<3

@ V3-2=V3-Vi<0

wrolBE AL A& .

®-Vi<-V3<-+1
6-Vi<6-V3<6- 1
L 4<6-V3<5

O @S v sl BH

L3+ V3>6- V3

3+ V3-(6-V3)=2V3-3=VI2-V9>0
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K@ ‘/if;_V@ 2B+ 2V3(1- V2) 7F R HES e f

k o] k27

@ 1 @ 2 @3 @ 4 ® 5

B

el

k(2V2 - V3) _
T—2«/§+2\/§(1 V2)

_ k2v2-V3)V3

3
2k3‘/_ k—2+6

2
= (¢-2) ¥4
ol fel47t slofof hnz
%k— 2=0
k=3

-2V3+2V3-2v6
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O] 4 Oﬂ ° ,/ E E
2 07‘*} golrt. 7 o] ;
*2? —— 4 .
® v2-2 @«/5—1 ® V2
@ 2-+2 ® 3
Hol7t 2 o AR 9 3 H o] doj= V2

a=1++V2,b=1-2+2

a%bz‘/%(u V3 +1-2v9)
2- 2
Y
2v2 -2
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1,41
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1,46

1.48

1.48

1.49
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1.50

1,51

1,52

1.52

1.52

1.53

1,53

5
2.0
2.1 11,44
2.2
2.3
2.4

1.54

1.55

1.55

1.55

1.56

1.56

® 5.93 @ 7.56

® 7.50

@7.40

® 6.19

V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




15. thg A% 3 310 -1 & vhpo] Wol 7] she 7k obd 229

® 2 @ 4 @5 @ ® 10

~&B

316 -1=(38-1)(3°+1)
=(3*-1)(3*+1)(38+1)
=(32-1)F2+DB*+1)(3%+1)
=B-1D)B+1E+1)B*+1)(3%+1)
=2x4x10X 82X 6562




